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B 1 1 | | | 1 1 | 1 | 1 1 | | | 1 1 | | | 1 1 | 1 1 | _| | | 11 1 | 1 11 | 11 1 | 1 1 1 | 11 1 | 1 1 | 1 11 | 11 1 | | B | I | | 11 1 1 | 11 1 1 | 11 1 1 | 11 1 1 | | I I | B 1 1 | 11 1 1 | 11 1 1 | | I I | | 11 1 1 | | I I | |
0002 —0001 0O 0.001  0.002 ~0.08-0.06-004—0.02 0 002 0.04 0.06 0.08 0002 —0.001 0 0001 0002 0.003 001 0005 0 0005 001 0015
asym_sami asym_sam3 asym_samb asym_sam7y

Al as as as

= — = — | I = I
0.081- 0.081- 0.081- 0.081-
I B I B : I B I B
. 0.06F . 0.06F . 0.06F . . 0.06F
0.04 0.04 0.04 0.04
0.02 0.02 0.02 0.02
op op op op
asym_sam
— i i i i
~0.04(— ~0.04(— ~0.04(— ~0.04(—
~0.06- ~0.06[- e ~0.06[- ~0.06{—
-0.08[- -0.08[- -0.08[- -0.08[-
_II|IIII|IIII|IIII|IIII|III _II|III|III|III|III|III|III|III|III|I _III|IIII|IIII|IIII|IIII|IIII _II|IIII|IIII|IIII|IIII|IIII|
-0.002  -0.001 0 0.001  0.002 -0.08-0.06-0.04-0.02 0 0.02 0.04 0.06 0.08 -0.002 -0.001 0  0.001 0.002 0.003 -0.01 -0.005 0 0005 001 0015
asym_sami asym_sam3 asym_samb asym_sam7

| [ | [ | [ | [
0.002 - - 0.002]— . e 0.002]— 0.002]—
B e B T . - . . B 4 B .
0.001 0.001 0.001 0.001
o ol ol ol
asym_sam | | | |
—0.001 ~0.001 —0.001 ~0.001
-0.002- T -0.002- S S | -0.002- 7 -0.002-
_II|IIII|IIII|IIII|IIII|III _II|III|III|III|III|III|III|III|III|I _III|IIII|IIII|IIII|IIII|IIII _II|IIII|IIII|IIII|IIII|IIII|
-0.002  —0.001 0 0.001  0.002 ~0.08-0.06-0.04-0.02 0 0.02 0.04 0.06 0.08 -0.002  -0.001 0 0.001 0.002 0.003 -0.01  -0.005 0 0.005 0.01 0.015
asym_sami asym_sam3 asym_samb asym_sam7y

0.015— 0.015 0.015 0.015

oot- 0.01- 0.01F - - 0.01F

0.005 0.005 0.005 0.005
as y m sam o or of L
— B B B B
_0.005 |- _0.005|— _0.005 _0.005|—
B B B B ,
_0.01 S . _0.01 L _0.01 . o c _0.01

[T
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